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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuS triangle lightnesst*

t* Yoc=Yw - nc=100,

t*LaBINDUs =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDUB=IN(A 1+ A2X)/(AgAon)  (X=YTYy)
1 (3,6)=218 1" ,(18)=496 t*y (90)=772

log[t*/t* J=0, m,=0,33
* =49, =49€
® 1
t*6g=771,96, Ay=1 3 A, 70,0699, ¢=0,67

t*15=4¢5,86, A =0 7, A=0,0038

t*36=218,08 t*,=4 5.',85 Y=18 1 ?al\ar%lganon
1

LABJINDu8

tristimulus value difference

Yoc=Yw nc=100,
L AgINDUs=IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDu=IN(A 10 A2 (A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

4

I dY 9.13 m,=0,80
Og( ): % 0_1r .0699.g-

leg U,L =05 P 8,=0,0088 rapp"ca“fm
dY,6=0,04 Vit18 dY=03 1
=1
xN=0,2 Xw=5

log AY/Y) LABJINDUS
_ tristimulus value sensitivity
S=@vr) YotV nc=100
L AgaNDus=IN(A1n A2 Y (A2rAon) - (Yad/100<Y<=Y,o)
L AganDu=IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYY=Agy(Arr+ Ao Y)Y =Agn (A1 Az XY
(AYIVEOLIB, AyL.5, 10,0699, §=0,67
(dY/Y)§=0,007, A 7, A4,=0,0038
(dY/Y)y ¢=0,0129" o b

Q
log(dY/Y)=-2,13 m,=-0,18% application
g(dY/Y) my ey Foe
t*,=496 dY,=0,13 dY,/Y,=0,00721
1

1
sl
xN=0,2 Xw=5

LABJINDu8
tristimulus value contrast
SN Yoc=Yw  nc=100
L AgaNDus=IN(A 17 A2 Y (A2rAon)  (Yad/100<Y<=Y,o)
tLaBINDUs =IN(A 10t A2 )/(AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dYy=163,60, Ay=1,5, Ay =0,0699, ¢=0,67
(Y/dY)g=138,01, A=0,017, A,=0,0038
(Y/dY); 7744 Y,=18 d\g 0,13
=496 dY,=0,13 Y,

application
range

LABJNDuS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t*LaABINDUB=IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
1 ABINDUs=IN(A 10+ A2 )/(A2yA0n)  (X=Y/YY)
t'N(3,6)=218 t* ,(18)=496 t*y(90)=772

t*go/t* 71,55, Ay=1,5, Ap,=0,0699, ¢=0,67

t*1g/t* =100, A,,=0,017, /4,=0,0038

%3 g/t*,=0,43,1%,=495 86 Y=18

log[t*/t* ]=0, m,=0,33

1 application
range

=1

log(AY/AY,) LABJNDuS relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y, ()
t* | ABINDUB=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYoy/dY,=4,21, Ay=1,5, Ay, =0,0699, ¢=0,67
dY;g/dY,=1,00, A,=0,017, 4,=0,0038
dYs ¢dY,=0,35 Y,=18, d\(,=f} 13 4

t,=496 d

=1
Xw=5

log [(AY/Y) 1 AYIY),] LABJNDuUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t*LaBINDUs=IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
t*LaganDus=IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
(AY/YY(AYIYV)=I(A 1+ A ) XA 17+A20)
(@YIYo(AYIY)=3 84, Ay=1,5, Apy=0,0699, ¢=0,67
(dY/Y)g(dY/Y)=1170, . =0.017, /4,=0,0038
@YYy gAY=L Y, —1& dY=0,13

log[(dY/Y(dY/Y),]=0, m=-0, o
t*,=496 dY,=0,13 dY,/Y,=0,0072} ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t*LaganDus=IN(A1ntA2Y)(A2rA0n)  (Yad/100<Y<=Yyo)
tLaganDus=IN(A1ntA2X) (A2iAon) - (X=Y7Yy)
(YIYY(YIY) =X (At AN (A 15+A2y)
(YIAY)o/(Y/dY)=1,18, Ay=1,5, Ap,=0,0699, ¢=0,67
(Y/dY)g/(Y/dY}=1,00, A=0,017, A4,=0,0038
(Y/dY} f/(Y/dY)=0,56 Y,=18 dY=0,13
log[(Y/dY)(Y/dY),]=0, m=0,18
t,=496 dY,=0,13 Y,/dY, 4 *
. 1 application
g 1 range

=1
AN=Y,2 Xw=5

LABJNDuS triangle lightness T*

YoceL*w - ne=100,

T aganDus =IN(A1n+AnY)(AznAon)  (Ya/100<Y<=Yyo)
T*Laganbus=IN(A 10 A2 X)/ (A2iAon) - (X=Y1Yy)
T+ (3,6)=218,T* (18)=496,T* (90)=772

log[T*/T*]=0, m;=0,33
L* ;=49,T*,=496
ol 1
*9=771,96, £y 1.9, Ay =0,0699, ¢=0,67

T*14=495,86, /1, 0 917, A4,=0,§038
T*36°218,08,1%; 4 /5,86 Y= 181

' |>h1

=02 "y=5

application
range

CEE81-1A

logAY) LABJINDu8
AY tristimulus value difference
YocmL*w - =100,

T*LABINDUs=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 17+ A2 (A2 Aon) - (X=YTYy)
dy:AOn(A1n+A2nY):A0n(A1n+A2uX) XZYIYLI
Aonpes=Li5, An a=1,0, see CIE 230:2019

%

é v
T*,=496 dY,=0,13 dY,/Y,=0, 0J7 ‘

I dY 0,1
oo ): % 5».»3899.;_ ——

leg—O 13, A, 7 %,=0,0088 ?ppllcauon
dY3,670,04 Y,=18, dY=0,13

XN=0,2
CEE81-3A

log (AY/Y) LABJINDUS

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LABINDus=IN(A 10+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Yno)

T*LaBaNDus=IN(A 1+t A2)/(A2uAon) - (X=YTYy)

AYIY=Por(A iAo Y)Y =Ag (A it AgX)/Y
(dY/Y}g=0,C61, Ay=1,5, Ay =0,0699, ¢=0,67
(dY/Y)g=0.00’ > A=0,017, A4,=0,0038
(dY/Y},6=0,0129. <18 dY=013

log(dY/Y)E-2,13 m,= O Tev application
s -  Jgge
T*,=496 dY,=0,13 dY,/Y,=0, 0072

|>&F1
XN=0,2 Xw=5

CEE81-5A

log (Y/AY) LABJINDu8

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDuS=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yno)
T* L aganpus=IN(A1n+tA2X)/ (A Aon)  (X=Y1Yy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}5=163,60, Ay=1,5, Ay =0,0699, ¢=0,67
(Y/dY)g=138,01, A=0,017, A4,=0,0038
(Y/dY}, =77,44 Y, =18, dY=0,13
T+ ,=496 4¥,=0,13 Y,/dY,=138 -
log(Y/dY)=2,13 m=0,18 _ »*

> application

CEE81-7A
CEE81-7N

THT* LABJNDuS relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*Laganbus =IN(A1ntAnY)(AnAon)  (Ya/100<Y<=Yyo)
T*Laganpus=IN(A17tA2X)/ (A2iAon) - (X=Y1Yy)
T*N(3,6)=218,T* ,(18)=496,T*\y/(90)=772

T*ogfT*=1,55, Ay=1,5, Ap,=0,0699, ¢=0,67
T*1¢T*,;=1,00, A=0,017, A,=0,0038
T*3 ¢ T%,=0,43,T%,=495,86 Y,=18
log[T*/T*,]=0, m,;=0,33
L* =49, T*,=496 —
1 application
range

=1

CEE81-2A

log(AY/AY,) LABJNDuS relative

tristimulus value difference
NN YomL*yy - =100,

T*LABINDUS =IN(A 10t A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,21, Ay=1,5, Ap=0,0699, ¢=0,67
dY,g/dY,=1,00, A=0,017, A4,=0,0038
dYs,gdY,=0,35 Y, =18, dY=0,13 ,'

13 dY,/Y,=0,057.

XNn=0,2 Xw=5
CEE81-4A
log [(AY/Y) | (AYIY),] LABJNDuUS relative
tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUS =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDuS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIY)=[(A 1+ A )X (A 17+A20)
(@YIY)o(dYIY)=.84, Ay=1,5, Ay, =0,0699, ¢=0,67
(@YY )g(dYIY)=1n 2. Ap=0.017, £5,=0,0038
(@YY} g(AYIY)=L, 78, 218 4¥=0.13

oGl VY @YIYL=0, my=-0.18 o
T*,=496 dY,=0,13 dY/Y,=0,0073 ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CEEB1-6A
log [(Y/AY) I (YIAY),] LABJNDuS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YIYY(YIY) =X (A+A X)) (A 15+A2y)
(Y/dYhg/(Y/dY)=1,18, Ay=1,5, Ay=0,0699, G=0,67
(Y/dY)g¢/(Y/dY)=1,00, A ,=0,017, A;=0,0038
(Y/dY} (Y/dY)=0,56 Y,=18, dY0,13
log[(Y/dY)(Y/dY)J=0, m,=0,18
=
T*,=496 dY,=0,13 Y,/dY, >'To
>

p 1 application

1 range
%=1
XNn=0,2 Xw=5

CEE81-8A

TUB-test chart CEE8; LABINDUY&*(Y) & T*(Y), Ync=(Y&L*) wrcBne x=0,66, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,017, A,=0,0038, A,=0,06
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